12H8 1H
=] B2 BRAFTELGE =] 7 BRRITELE
1 H |[/MAFBRIEXE 1 XK |TBE
2 A |EE£0® KWHTER(FHD 2 P/
L |EREAALTAEEZEZZSH
| X | Kex= s | =
2K BEWES (EEH)
sl RO [T = e
5 X |BAEZE (ER) 9570 5 =|
6 % R ALT 6 g 2B (A=) 13:25TFK
= | BAEXRS(2-31RF) IEEL&(2-3A1TE)
7 T 7 X
8 =| 8 K |BEESEHERED) £EATHK
9 BAEXEFIEE 9 X
10 k SC;E*BLCLF-H‘TI 10 ﬁ ;J\L%ﬁ%ﬁgmﬁ(uﬁk " *%%)
SRAFMEIEE 13:10T#H
K s ammEES) 14:10~ LR
12 A |[BFERT1BE 12 =|
BERT2BE LAAPR .
13 | & |7 mEaans 13 BADAE
14 + 14 X IEERSEHERERSD
15 B |PTAFS#MEY 15 K |EBEREE BES(2-381T%)
16 16 PN
e =hSh e O Sk R4 < J:Alﬁaﬁ ALT 571—3_'\71—_5-L\
17 X |HRBERHES (KB -FET) 17 il FIRESG
ANHNRRAE
18 | K |memenl 18 | +
19 X 19
& 6 EMATD (6IRFHERT)
20 | & |ALT BF=R 20 ERESHERER
21 T 21 P%
22 =} 22 K |BESEHEFREOQ)
23 23 X 9570 3FEHSTRZE
b |2FHET R TOX £ETK13:15 5
24 K A SK o or—S L% ALT B RGE 24 | & |[FARGREHESHAZR ALT
25 7K 25 T
26 X 26
27 % 27 B |EE%2®
L | AETU—b BREREE(IF)
28 | + 28 | X |srmis0 (6RERERT)
29 H 29 K |BEHEL CERER)
HEIFEAEZE GERIEEZA)
%0 | B 80 | X |meme(ARBEH 2R
31 DY 31 & |AXR#HE




